COMPONENTS PRODUCT INFORMATION ANZEsE5-

NEW DW3 CONNECTOR

? MB-0267-2
U L 2014/01

DW3 DW3P002ZH1 DW3R002ZH1

150A 2 2 24
UPS
uL
muL File No.E67741 YA n
| 150A
| 2
[ ] =+2.0mm
|
m3 3
m19 U
n 2 m 0.3mQ
24 20mQ
| 150A ] 100
2A u -25  +105
| 600V [ ] AWG#22 d1.5mm
100V

600V

JAE PMK Div. Proprietary. Copyright © 2013 Japan Aviation Electronics Industry, Ltd. 1 18



MB-0267-2

DW3SRO02ZH1

MODIFY CODE

002:2 3

DW3RO12A

— MODIFY CODE

P: 012:12 3

DW3IPO4KA4FL

_(&ODIFY CODE

F:

4: AWGH22

04K:4000

K 1000 ( 1

4,000 7/

JAE PMK Div. Proprietary. Copyright © 2014 Japan Aviation Electronics Industry, Ltd. 2 18




MB-0267-2

DW3P002ZH1

SJ112646

s |
= .
¥ - < Ah f
= 43 I i E
i L] t
Ll . . Mk 2 - 1. -
| A~
i @ b’ w4 1) ‘ ’l_f:‘ i _m”kﬂj_
CONPANY (060 RIS W 7 vahiiid -1 ar
SPACE THAT INGERTS SIGMAL HOUSING B SPACE THAT INSERES 510NAL HOUSSTHE A
PRODUCT WANE  [(WIRD17H, DWG Mo, 50112640 PRODUCT MAME [RIRD1ZA. DWG No SJ1I26LE
B AN WA oy AN
NOTE 1. PRODUCTION LOT NUMBER AND RATED CURRENT/VOLTAGE IS INDICATED AT THIS LOCATION
NOTE 2. THROUGH HOLE FOR ATTACHMENT SCREW.
USE ' SHOULDER BOLT (DWG No.5J112653)° OR "M6 SCREW(WITH WASHER)" FOR ATTACHMENT SCREW
TIGHTEN SHOULDER BOLT BY 5. 2[N-m] +0. 5[N-m].
«TIGHTEN M6 SCREW BY 2. 6[N-m] 0. 3[N-m].
NOTE 3. POWER SUPPLY TERMINAL CONNECTION POSITION
TIGHTEN M6 SCREW BY 5. 2[N-m] =0. 5[N-m].
NOTE 4. THE ANGLE BETWEEN PANELS IS NOT INCLINING MORE THAN THE TOLERANCE LEVEL
OF THE POSITION GAPS (X, Y ==2mm) AND THE DISTANCE (Z:=1.5m).
Xl EFROaECEEn EEHRER/ EEEEEETT S,
F2. MYtk CEESE;R
Y it CICIENGda L (F2iv-11) | FE =1 Tand - s (B3 -5J112654) ) =ERAD &,
YA =% RHEESH (T 2 6[N-m] £0. 3[N-m].
-M64a LERaOfHIF Y - 5. 2[N-m] £0.5[N-m].
33 WRETIEESS-MR LSO - 5 2[N-m]£0.5[N-m].
E4 n MEOABEZGEET A K Y 2m) £ TIEME (2 1. Smm) OFEFEREEEA THMMELI &,
4 |SPRING PIN 2 |STAINLESS STEEL - -
3 |HEXAGON NUT M6 2 |BRASS NICKEL PLATING -
2 |PIN CONTACT 2 |COPPER ALLOY SILVER PLATING -
1 |BASE HOUSING 1 |PBT COLOR: BLACK -
5 & i H_# oo # E ® &
NO. DESCRIPTION aTy. MATER | AL FINISH REMARKS

JAE PMK Div. Proprietary. Copyright © 2014 Japan Aviation Electronics Industry, Ltd. 3 18



MB-0267-2

DW3R002ZH1
SJ112647
M :'%H'_r
AR BAL NOTE 1
[Fla P
I — J
!1 I i HI, I L FLOATING RANGE
l [ — | F0-Fivh Wi
(250 - 1L 125)
SPMCE i:ﬁlr IISLHE.HSIM I‘Uﬁlﬁ A ;
i - ) mﬁ_ J?\FPTH i SJ1 1 DES0)
R ([ - LY Kes
- LY - g"&*:.”“":" - ] SPACE THAT INSERTS 510MAL HOUSING B
1 " PROCUCT NAME:DEIFOIZH. OWD No. 5J112651
o " g = e A WA
- P
MIIE 2 A wiez T R SPCE Do LasEis o /7 10 L,
) 118 4 Ly
J | @
E i
. ! ,|. uig i [T
—r E2TE U] el ]
= ol
1 =t
{1
L
NOTE 1. PRODUCTION LOT NUMBER AND RATED CURRENT/VOLTAGE AS INDICATED.
NOTE 2. THROUGH HOLE FOR ATTACHMENT SHOULDER BOLT (DWG No. SJ112654).
TIGHTEN SHOULDER BOLT WITH 5. 2[N-m] 0. 5[N-m].
NOTE 3. DON' T PUT THE FOREIGN BODY IN THE CONNECTOR MOVABLE RANGE.
iEl ﬁ@fﬁﬂl:ﬁiﬁﬂﬂ&ﬁﬁiiﬁfﬁﬁﬁ& ZRTT H.
X2, DY TN & M (B SJ112654) A #GER
2aM - MO TV 0 5. 2[N-m] 0. 5[N-m].
Fl BB GRBEOREOHRYEEITEN .
5 |[SPRING PIN 1 |STAINLESS STEEL - -
4 |HELICAL EXTENSION SPRING 6 |STAINLESS STEEL - -
3 |FLOATING CONTACT 12 |COPPER ALLOY SILVER PLATING -
2 |FLOATING HOUSING 1 |PBT COLOR : BLACK -
1 [BASE HOUSING 1 |[PBT COLOR : BLACK -
‘P!l}‘ tf'smmll?ll EIT'I'. ﬂlmlﬂ Fmsﬁ M

JAE PMK Div. Proprietary. Copyright © 2014 Japan Aviation Electronics Industry, Ltd. 4 18



MB-0267-2

A

DW3R012A
SJ112648
POLARITY KEY - jor—iltinl CONTACT No.
Hi{E3- 1 o 2.4 208 EW_| i Ko a"..'.!LHD-USlHE No. TA]
y / I. frt'No. i Y 0 Ne, [A]
Ll =
| :
=L =
NLLOT o, = H%M?I#ET Na
TABLE-1
CONTACT PART No. SIZE OUTER DIAMETER REMARKS
DW1S04K4F1 (SJ111310) AWGH#22 ¢1.5 SOCKET CONTACT

NOTE 1. CONTACTS ARE SOLD SEPARATELY. THE APPLICABLE CONTACTS ARE LISTED IN THE TABLE-1.
NOTE 2. THE POSITION OF THE POLARITY KEY IS DIFFERENT COMPARED WITH THE FOLLOWING PRODUCT.
PRODUCT NAME:DW3R012B. DWG No. SJ112649
NOTE 3. THIS PRODUCT IS USED IN COMBINATION WITH THE FOLLOWING PRODUCT.
PRODUCT NAME :DW3POO2ZH1, DNG No. SJ112646

El AERBULYIBIERYSTHY ., BRIIMNIRIOBYTHS.
F2 FUSITREESEBE-GEAVRTHS.

24 &n 4 -DW3R012B. (1 SJ112649
Al FUSETERENGEEASHOETERT 5.

845 B (DW3PO02ZH1, B3 SJ112646

FIXED CONNECTOR |
| |SIGNAL HOUSING A 1|t COLOR - BLACK i
78 £ it L H oo & a =
L] DESCRIPTION ary. MATERIAL FIMISH FREMAFKS
5 18

JAE PMK Div. Proprietary. Copyright © 2014 Japan Aviation Electronics Industry, Ltd.




B

DW3R012B
SJ112649
POLARITY KEY 1408
@ fifes- 2.4 208
| s—
:El ?':l_"""-_ — 1— g
COMPANY LOGD . " = 1
| . LOT No.

MB-0267-2

COVITY No
ok No.

NOUSING No [B]
My ) No [B]

TABLE-1
CONTACT PART No. SIZE OUTER DIAMETER REMARKS
DW1S04K4F1 (SJ111310) AWGH22 $1.5 SOCKET CONTACT

NOTE 1.
NOTE

PRODUCT NAME:DW3RO12A, DWG No.SJ112648

NOTE 3

PRODUCT NAME :DW3POO2ZH1, DWG No. SJ112646

E1.
X2,

AWBRIIAIIRNFEYSTH
AW TR L W ERLGT

% :DW3R012A, (3 :SJ112648

E3.

% :DW3P002ZH1, [E& 1 5J112646

. THIS PRODUCT IS USED IN COMBINATION WITH THE FOLLOWING PRODUCT.

Y, ERAIHIRIOBY THS.
%%D

Nz
FUAETRULL MHADETHAT 5.
[aR

CONTACT Mo
o

'\, CONTACT No
1§ FNo.

CONTACTS ARE SOLD SEPARATELY. THE APPLICABLE CONTACTS ARE LISTED IN THE TABLE-1.
2. THE POSITION OF THE POLARITY KEY |S DIFFERENT COMPARED WITH THE FOLLOWING PRODUCT.

CONNECTOR
HOUSING B

1 |PBT

COLOR

BLACK | -

|

£ £
M| DESCRIPT 0N

" B
MATERIAL

# F |
FINISH |

»

JAE PMK Div. Proprietary. Copyright © 2014 Japan Aviation Electronics Industry, Ltd.

18




MB-0267-2

A

DW3P012A

SJ112650

CONTACT Mo
BEMo. ot
L POLARITY KEY - 41.3 =08 y /
S = HOUSING No. [A]
; w5 Na
i [ ]
= - R\ g COMPANY LOGO
I LOT Mo. .~ F it
CONTACT Mo
i FNo I
f:h.>—
i 1
TABLE-1
CONTACT PART No, SIZE | OUTER DIAMETER | LENGTH:A(FIG. 1) REMARKS
DW3P04K4F1 (SJ112653) | AWGHE22 1.5 20.75 SIGNAL CONTACT
DWIPO4K4F1 (SJ111311) | AWGH22 $1.5 18. 25 SIGNAL CONTACT
DWIPO4K4AF2 (SJ111312) | AWGH22 $1.5 16. 75 DETECTED CONTACT
NOTE 1. CONTACTS ARE SOLD SEPARATELY. THE APPLICABLE CONTACTS ARE LISTED IN THE TABLE-1.
NOTE 2. THE POSITION OF THE POLARITY KEY |5 DIFFERENT COMPARED WITH THE FOLLOWING PRODUCT.
PRODUGT NAME:DW3PO12B, DWG Mo. SJ112651
NOTE 3. THIS PRODUCT 15 USED IN COMBINATION WITH THE FOLLOWING PRODUCT.
PRODUCT NAME:DW3RO02ZH1. DWG MNo. SJ112647
F1. FESKFLAMBIRYSTHY., SAVHHIRIOBY THS.
F?2 FUSRTRESLBE-UEELRTHS.
2542 DW3P012B. E3% - SJ112651
F3 AESETREMSE:HAEHETERT S,
89 5 4 DW3R00Z2ZH1. E & 5J112647
FLOATING CONMNECTOR .
1 SIGNAL HOUSING A 1 |PBT COLOR : BLACK -
o DESCRIPTION ™ eI AL Fiwd Rewss

JAE PMK Div. Proprietary. Copyright © 2014 Japan Aviation Electronics Industry, Ltd. 7 18




B

MB-0267-2

DW3P012B

SJ112651

POLARITY KEY T
Wizt .

1.3

CONTACT Mo CAVITY Mo
8§ Fho. it Ho
: HOUS MG No. [B]
"y Na. [B]

'hnﬁunu
STl

I } o7 He " = B
?ﬁﬁr Na. |
I
TABLE-1
CONTACT PART No. SIZE | OUTER DIAMETER | LENGTH:A(FIG. 1) REMARKS

DW3PO4K4F1 (SJ112653) | AWGRZ2 915 20. 75 SIGNAL CONTACT
DW1PO4K4F1 (SJ111311) | AWGH22 $1.5 18. 25 SIGNAL CONTACT
DW1PO4KAF2 (SJ111312) | AWGH22 ®1.5 16.75 DETEGTED CONTACT

NOTE 1. CONTACTS ARE SOLD SEPARATELY. THE APPLICABLE CONTACTS ARE LISTED IN THE TABLE-1.
NOTE 2. THE POSITION OF THE POLARITY KEY IS DIFFERENT COMPARED WITH THE FOLLOWING PRODUCT.
PRODUCT NAME:DW3PO12A, DWG No. S5J112650
NOTE 3. THIS PRODUCT IS USED IN COMBINATION WITH THE FOLLOWING PRODUCT.
PRODUCT NAME:DW3RO02ZH1, DWG No. SJ112647
F1 FMRKFIAINRYSKTHY, BRLIINIRIOBY THS.
F2. K& ;'F!Eﬂunt#iiﬂ—{ml:!u;ﬁ:f&éo
25 A DW3P012A, [E4#F - 5J112650
FI FERITRUSEHASHETHERT S,
W52 DWIR002ZH1 . & 5J112647
FLOATING CONNECTOR
| STGNAL HOUSING B 1 |PBT COLOR : BLACK -
e £ L2 L W ¢ E A =
Nl DESCRIPT 10N ary MATERIAL FINISH REMARKS

JAE PMK Div. Proprietary. Copyright © 2014 Japan Aviation Electronics Industry, Ltd. 8 18




DW3R002-CV
SJ112652
Uf@ EB“%ng ﬁ
®Fr

MB-0267-2

NOTE 1. THIS PRODUCT IS USED IN COMBINATION WITH THE FOLLOWING PRODUCT.
PRODUCT NAME:DW3R002ZH1, DNG No. SJ112647

E1. ﬁﬁﬁti?ﬁﬂﬂﬂ EHABDOETERT S,

aa 4 - DW3R002ZH1, & :SJ112647

1 |BUS BAR COVER 1 |PBT ) COLOR - BLACK
=8 = " @ = H oM & i
MO DESCRIPT IO ary NATERIAL FINISH REMARKS

JAE PMK Div. Proprietary. Copyright © 2014 Japan Aviation Electronics Industry, Ltd.



MB-0267-2

DW3P04K4F1
SJ112653

|
|
b vl | e i e e Y =
il e -H:.!-:_- — :T_.r.'-'_ ey L._I-J'-.. '-..?.-" 5
|
L 01 d 3 35
e (3215} = | I
I
A
{5 1 : | L] |
I
I B I
= L1635 ) — 15 =02 — - 5.1 - 290 203 -
L 3 . LB N -
: i ) I 3 Tl 123 i " I
o & e : B
3 é*j;, R Ak " [ s~ 3 W =
.-.I ’ L+nr = 1 {—t —i i i 2 "'
LOT M
1.8 B 0
[ -5 | {
s 5 -1
5:0
= A -y
Xl, :r{ .3. B .-‘._:"
=4 I
| — 3 /_,
[ é - e
1= i/ e
] NOTE 3 |
§ et ™, |
= ' |
= "\_u—i—_ B @
— S ﬂt ~
et fIay, . IO\,
ff{ . o}* E) ?;‘} 'h\\:_,:
Fd L WY
f \\
a .
B e —t—a)-
-l | | | NOTEI. THESE CONTACTS ARE SUPPLIED PER REEL THERE ARE 4 000 CONTACTS PER REEL
- \ Al NOTEZ APPLICABLE WIRE = AWGZ2Z (0 Jsm 2) INSULAT|ON OUTER DIAMETER & 1 5(STRANDED)
\ \ %— ; 4 NOTE3. PART MUMBER. QUANTITY AS INDICATED
NN et /'/ 3 FIMHITIRTERE 0 400PG/1H) £ 15
| = L 2 AR IEANGEDD (0. Jom 2] BENES SOEBETE,
I ~._ FSN -~ FIEFOUECES. i Ek‘.}ku BARAFRESHTLNE,
L | u __._I___
150) 0 .
3 |PAPER TAPE 1 |PAPER - -
2 |MAGAZINE 1 |PAPER - &
1 |PIN CONTACT 4000 |COPPER ALLDY TIN PLATE -
"8 £ B [ g W &k =
[ DESCH |PT10M ary MATERIAL FINISH REMARKS
JAE PMK Div. Proprietary. Copyright © 2014 Japan Aviation Electronics Industry, Ltd. 10 18



MB-0267-2
D250-50632
SJ112654
il e HEX:5 +0.2 it dad 8.4 +0.8
r \
g o
~ | g e AT B
= &
\HE_M&LE.;SEH_EJ!
NOTE 1. TIGHTEN SHOULDER BOLT BY 5.2[N:m] =0.5[N-m].
EL vV K ST 0 5. 2[N-m] 0. 5[N-m]
1 |SHOULDER BOLT 1 |STEEL TRIVALENT CHROMATE |-
RE & = 2 = # H #t t a =
HO. DESCRIPTION aTy. MATER AL FINISH REMARKS
JAE PMK Div. Proprietary. Copyright © 2014 Japan Aviation Electronics Industry, Ltd. 11 18




MB-0267-2

DW1S04K4F1

SJ111310

#1.5
== 3R
] -
i i
12 =
[+]
(23.4) ;E
A |
G:1 .
(16.35 ) (5.7) ,ﬂ'\// 99 0,
(7.6) ) 8.75 +0.3 2.05 +0.3

L
=

@ 10Z
NG
\NOTES

| )
t0.25
(2.1)

e
o

1,85 0.2

-
|\
|

mm

NOTE 1. THESE GONTAGTS ARE SUPPLIED PER REEL. THERE ARE 4, 000 CONTACTS PER REEL.
NOTE2. APPLIGABLE MATING PIN : [10. 640.
NOTE 3. APPLIGABLE WIRE:AWG£22 (0. 3mn"2) INSHULATION OUTER DIAMETER: ¢ 1. 5 (STRANDED)
NOTE4. PART NUMBER, QUANTITY AS INDIGATED.
NOTE5. YEAR AND MONTH OF MANUFACTURE SHALL BE SHOWN AT THE LOGATION.

(LEFT:ONE LAST DIGIT OF YEAR, RIGHT:MONTH 123456789XYZ)

EX. *10Z" —MANUFACTURED IN DEC. 2010

. ARavey Fli')-ibﬁtﬁ*fﬁéh, 4000[PC/J—N]1 LT B,
. BAEVIEIREDO. 64:0.05&9 5,
. {EREBANGE22 (0. 3nm”2) ﬁﬁo ?ﬁﬁﬂ*ﬁdﬂ 5OERET 5.
. AROBICGA, BBRETBALERGEESELATINS,
. .T@{ﬁ?l-ﬂﬁiﬁﬂﬁfﬁ AT D,
Zf - EET, MiTH, Al H123456789XYZ)
9‘] 107 &4 H2010128,,

AR

7_||.40

SOCKET CONTACT 4000 |COPPER ALLOY TIN PLATE —

PAPER TAPE 1 |PAPER —_ —

MAGAZ INE 1 |PAPER — —_

3
2
1
o pESRIPTION fin® Rl Finii Rwed

JAE PMK Div. Proprietary. Copyright © 2014 Japan Aviation Electronics Industry, Ltd. 12 18




MB-0267-2

DW1P04K4F1

SJ111311

3.8 £0.2
7

E: p—
NOTE4 Y s
= — I s — Tt KB’/
1 E
(18.25 ) R P
(29.65 ) o
A |
G:1n
[|\¢“/\ 2.99 o0
(13.85 ) 9.15 +0.3 [56.7])
2.05 +03
3 1.5
0 = mzl,___rﬁ s
[1.85) NOTES

-

NOTE 1. THESE GONTACTS ARE SUPPLIED PER REEL. THERE ARE 4,000 CONTACTS PER REEL.
NOTE2. APPLIGABLE WIRE:AWG#22 (0. 3mm~2) INSHULATION OUTER DIAMETER:21. 5 (STRANDED)
NOTE 3. PART NUMBER, QUANTITY AS |NDIGATED.
NOTE 4. THE MARK DENOTES TYPE OF THE CONTACT AT THE LOGATION SHOWN.
1S FOR SIGNAL CONTACT, AND “B” FOR DETECTED GONTACT (SJ1I1312)

NOTES. YEAR AND MONTH OF MANUFACTURE SHALL BE SHOWN AT THE LOCATION.

(LEFT:ONE LAST DIGIT OF YEAR, RlGHT MONTH 123456789XYZ)

EX. '10Z" —MANUFACTURED IN DEC. 2010

(600 )

F1. KRS FEY—LRTHEGESH, 4000[PC/'J—JL]&3‘%:
BANGH22 (0. 3nm 2) fAM, WEIE 1 SOBBET B,
BICSE. BRERALERRRNELATING,
fIEOHEEa 22 FOFEFEERL
2y ba)ﬁl:tk HHEa 4 FSII11312) OB EBERTT 5.,

[+

b
i R R
-||a1u-||9|m
8 fJ 8 SEIv

#6. B MECHEEARE RS 2,

3 (Zffl - FaFE3HT, 4#& il : F123456780XY2)
- 107 —8iE4E R 20105125

7, 40
3 PIN CONTACT 4000 [COPPER ALLOY TIN PLATE —
2 |PAPER TAPE 1 |PAPER — —
1 |MAGAZINE 1 [PAPER — —
] & W 8 = H_#® t E W=
N, DESGRIPTION aTy. WATERIAL FINIS REMARKS

JAE PMK Div. Proprietary. Copyright © 2014 Japan Aviation Electronics Industry, Ltd. 13 18



{ $600)

1 40

T =
“ & :

MB-0267-2

DW1P04K4F2
SJ111312

—]
NOTE4 " S1s
& == T
| -
; b
(16.75 ) - SE
(28.15) SN
A |
G:1
(I\/\ 2,99 =0,
_ (12.35) 9.15 +0.3 (6.7) | 905 0.3
. +0.

=]
—_
]

]
PN
10.25

2.8
l(z.n.

(1.85) : \NOTES

LrLpLni

=
=
=
m
[

11]

[

NOTE 1. THESE GONTACTS ARE SUPPLIED PER REEL. THERE ARE 4, 000 CONTAGTS PER REEL.
NOTE2. APPLIGABLE WIRE:AWG#22 (0. 3mm™2) INSHULATION OUTER DIAMETER1.5 (STRANDED)
NOTE 3. PART NUMBER, QUANTITY AS INDIGATED.
NOTE4. THE MARK DENOTES TYPE OF THE GONTAGT AT THE LOGATION SHOWN.

; “A” IS FOR SIGNAL GONTACT (SJ111311), AND “"B” FOR DETECTED GONTACT.
NOTES. YEAR AND MONTH OF MANUFAGTURE SHALL BE SHOWN AT THE LOCATION.

(LEFT:ONE LAST DIGIT OF YEAR, RIGHT:MONTH 123456789XYZ)

EX. "10Z' —MANUFAGTURED IN DEC. 2010

FE1. FaL2g FEY—LKTEEGE S, 4000[PG/U—IL]1&T B,
E2. GAEEAIGE2(0.3m 2) AN, BEAESLSORBET 5.
E3. ATEQMUBICRE. HEZRALELRGRMSUGA TN S,
3’;:'7 o ﬁi
H
3

S _’_Ill

X4, BROHBOHIED L.
iﬁh‘.‘.:! »2 9 FOFHIBERTT .

L7=
b i
E5a 227 ~(8J111311) DEFFA,
5. BnofBcaEE A ERRd B,
i (7l - M, ATE. A . A123456780XYZ)
- 10z’ ‘—’ﬁﬁﬁﬁzm 04£12R

ﬁl*

PIN CONTACT 4000 [COPPER ALLOY TIN PLATE —

3
2 |PAPER TAPE 1 |PAPER — —
1 MAGAZINE 1 |PAPER — —_

HS &) ki - #_H # E . T
NG. DESCRIPTION __ | om. MATERIAL FINISH REMARKS

JAE PMK Div. Proprietary. Copyright © 2014 Japan Aviation Electronics Industry, Ltd. 14 18




4-R5 max,

FEMALE SCREW (M6) %n ;%

MB-0267-2

FEMALE SCREW (M6)

3 +0.2
33.5 +0.2

40 min.
(NOTE 3) .

(NOTE 3)

CONNECTOR MOVABLE RAHBE//

(NOTE 3)

FEMALE SCREW (M6)

PANEL DIMENSION (REF. )

a:2

FEMALE SCREW (M6)

4-R2 max. 4-R1 max. o
o
p— H
N—— 7/ :
Vi _{é\‘
)4 |
| PE
I R B S b
6 +0.2 .
" 121 +0.2 il
_ 142 +0.1

JAE PMK Div. Proprietary. Copyright © 2014 Japan Aviation Electronics Industry, Ltd.

15 18



MB-0267-2

16+0.2mm
o 18+0.7mm
E 4 e e
1 o 92
S— B
B s N A Y | |
,A £
A & -
\_\ o
\ L H
™ . N ™ =
.‘\_\..\
% !
; [ / :
32+0.3mm | :Ag

16+0.2mm — 18=+0.7mm
o
‘ 4 | < >
I 0
. y |
- — ] ( IR
: r [
1
| £
X S
' o
| <
| o
X ™
,.'».w\
- ‘f_:_+ v :Ag

JAE PMK Div. Proprietary. Copyright © 2014 Japan Aviation Electronics Industry, Ltd. 16 18



MB-0267-2

DW3
DW3R002-CV
& DW3P04K4F1
DW3P012B
D250-50690 M
N DW1P04K4F1
9 DW1P04K4F2
DW3P012A
A
DW3R002ZH1

A

DW3R012A

DW3P002ZH1

DW1S04K4F1

DW3R012B

B

JAE PMK Div. Proprietary. Copyright © 2014 Japan Aviation Electronics Industry, Ltd.

17 18




MB-0267-2

NO.
SJ112646 DW3
SJ112647 DW3
SJ112648 DW3 A
SJ112649 DW3 B
SJ112650 DW3 A
SJ112651 DW3 B
SJ112652
SJ112654
SJ112653 DW3
SJ111310 DW1
SJ111311 DW1 )
SJ111312 DW1
JACS-30260
JAHL-30260
17703488
T700315
1
2 AV FA

JAE PMK Div. Proprietary. Copyright © 2014 Japan Aviation Electronics Industry, Ltd. 18 18




